H & 0l & AHS B Ml A

SN 2R
ma: 230l IS
SH9l AIRIOI 23t0lE 4013 K2 (crol: m2)
SA-3Y - SRA(SAH) - MRAY - BES Off &4 & A HnsZ
st 9,876,319 19,686,519 189,800
2 76,000 76,000 0
| 1,994,610 1,938,610 56,000
= 4,173,000 4,039,200 133,800
Al 13,632,709 13,632,700 0
Sstolz A= 9,404,095 9,220,506 183,500
2 76,000 76,000 0
| 1,994,610 1,938,610 56,000
= 512,000 384,500 127,500
Al 6,821,485 6.821,485 0
ABIOIN 231012 4018 HIB 5,551,822 5,368,322 183,500
2 76,000 76,000 0
| 1,994,610 1,938,610 56,000
< 486,100 358,600 127,500
Al 2,995,112 2,9%, 112 0
= PETEES) 110,000 0 110,000
= 110,000 0 110,000
307 QI2H0IH 110,000 0 110,000
= 110,000 0 110,000
VEIEEVOVSEES 110,000 0 110,000
OBl SHB HGH=RABNE
'Eol B (ZPLYTLEY) 0,000 0 0,000
= 10,000 0 10,000
OH58| 28IILAL 4.4 MRS 10431
SOD BHGH=IIGENE(ZZHRH A
) 4,000 0 4,000
= 4,000 0 4,000
ONEIZER = aHs50/0F
(FLLYHOLEA) 24,000 0 24,000
= 24,000 0 24,000
OR0Pte HBiE 2AE
(FLLYHOLBA) 0,000 0 0,000
= 0,000 0 0,000
OM18l Z2lPAREOI2SsIIY
(FALYHOLBA) 4,000 0 4,000
< 4,000 0 4,000
ON23l 72 S FZ LY T AEE) 4,000 0 4,000
< 4,000 0 4,000
ORI58| The Love SJIE+ X233l
(FLPHOABS) 4,000 0 4,000
= 4,000 0 4,000
OROPI= SOHOIESAIEIS] UMAIRIS
B HYBNE(FJLLTOAE ) 4,000 0 4,000
= 4,000 0 4,000
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